CSE 326 Reading Quiz

Name: ______________________ Score: ____

Monday 7/24/00

1.  (6 pts.) Suppose these numbers are to be partitioned (a la Quicksort):

10  -3   2   5   17   29  18   35   13

 Three methods for choosing the pivot are described in the textbook.  Name each method, and state what value it would give as the pivot:

	
	

	
	

	
	


2. (3 pts.) Using crossouts, show the result of partitioning the following list of numbers.  Use 6 as the pivot, and start by swapping 6 with the last element.

8     1     4     9      6     3     5     2      7     0

3.  (4 pts.) For the following, choose between log N,  N,  N log N, and N2
a. Merge sort average case O(________)

b. Quicksort worst case O(________)

c. Quicksort average case O(_______)

d. Theorm 7.7 “Any sorting algorithm that uses only comparisons between elements requires  Ω(_______) comparisons.”
4. The basis of external sorting is (pick one)


merging


partitioning


insertion


selection

